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Sem - VI-Mech. Engg
I.E.P.

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries I marks.

7u-A ¥ Tt 20 3T & SOR 2, WS 0T B AW [ AF 2 |

Answer all Five questions from Group B, each guestion
carries 4 marks.

gu-B & wifl ufg uel & Sav &, ucld WEd &1 9 4 3@ 2 |

Answer all Five guestions from Group C, each question
Carries 6 HHH'J!{.E'.

qu-C &t wefl ui el @ 9o <, udlw ue @1 6 6 5 2 |

All parts of a question must be answered ar one place in
.H'('ffIF{’Hf't’, (Jfrel.’{’.i"l'n'f.ﬂ'(’ ”.Ff,‘.'l' HH{I' 1 .IJJL‘ {’l'(ffffﬁ!f{’il"l.
Ul U & il I &7 9aY U @ e (dNTan we |)
g arfey, s=uerm 4 Wifd Y o wed &)

The figure in right hand margin indicate marks.
et ured @ o quils @ yas &

P.T.O
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GROUP-A

Choose the most suitable answer from the following

1x20=20

watfre Sugad fawey 1 gaax fad -

(1)

(1)

Which of the following systems generate
more energy when used in industrial
applications ?

(a) Hydraulic

(b) Pncumatic

{¢) Both (a) & (b)

(d) All of the above

fFr=ifea 9 @i A gomrelt st sl
gard ¥l B, Wid IHdl SuAi itenfire
Al § gar g ?

(@) srgsiferd

(q) aradig

() (@) 3R (9) <=

(<) Suga wh

[n pneumatic systems , AND gate is also
known as.

(a) Check valve

(b} Shuttle valve

(¢) Dual pressure valve

(d) None of the above

https://www.sbtediploma.com

wiod ewopdipaigs mmm//sdy
[dipa1q . y



wod ewo(dipaiqs mmamyssdny

https://www.sbtediploma.com https://'www.sbtediploma.com

NT6033 3 1625603 1625603 4 NT6033
“” 5 :{' AND N (V) U N oo, D SXTER BT B |
H ST ST 2 )
(@) A% ared (3r) 760 mm Hg
{q) 9ol died (5‘) 760 mm ”10
) 700 mm Hg
(@) s3rel YN dred (#) g
() 379 A $Ig & (&) 700 mm H,O
(i} Which of the following is an element of time (v)  Which type of motion is transmitted by
delay valve 7 https://www.sbtediploma.com = - hydraulic actuators ?
(a) ”?w meml valve ’"§ *§ {a) Linear motion
{(b) Direction control valve L 2 b Rotar G
(c) Both (a) and (b) g g (b) Rotary motion
(d) None of the above = = (¢) Both (a) and (b)
3 @, {d) None of the above
iy Preifafaa 4 @ s19 erdy A are 2. 2.
&1 UF dcd & ? = = (v) wIsgifa® Tdequex g1 fod UaR 3
. = = .
(@) vare fFra=or ared 5 5 Tty &1 WaR ghar 8 ?
. ] )
(@) fen fFrazor ared S 3 (1) s TRy
. . (&) 379 4 ®Ig Tl
(iv)  Pressure | bar is equal to
{a) 760 mm Hg
(b) 760 mm H.O (vi)  Pneumatic systems usually do not exceed.
{¢) 700 mm Hg {a) I hp
{d) 700 mm H,O (b) I to 2 hp

(¢)21o03 hp

PT.O {(d)4to 5 hp
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{(vi}

(vin)

{(vi)

{(vin)
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ArIdg gorrell AR ... ¥ 3(fere
8 't 2
(@) 1hp
(@) Tto2hp
(=) 1103 hp
(€) 4to51

Which fluid 1s used in hydraulic power
sysiems 7

(a) Watcr

{b) il

(¢) Non-compressible fluid

(d) All of the above

glggifere gray fRieew 4 oy ava
gygrel &1 SuAtar fear orar g ?
(m)qr*ﬁ

(@) s

(%) ﬂ? dafaa ava
(&) 3= Q@ P

In fixed displacement vane pump............
(a) Flow decreases with increase in working

pressure
(b) Flow mcrease with increase in working
Pressure

{¢) Flow pressure 1s contant and 1s not along
with working
{d) Nonc of the above

PT.O
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(1x)

(x)

https://www.sbtediploma.com

6 NT6033

ff¥ga favemy=s 951 gymg o

(@) ardes™) qae A 9fy & W gaE
e ofrd) 2 |

(@) srdel <r9g 4 9fg @ a1y yae
¢ el 2 |

(W) ware <qarg fraa aeon srded g9ra
® ey Fgl

(?) Sugaa # & @Ig T

What does the numbers 1n 4/2 direction
control valve mean?

{a) 4 position and 2 ways

(b) 4 ways and 2 positions

{c) None of the above

{d) Both (a) and (b)

4 /2 feen A= ared § ST 1
aeriar & 7

(@) 4— U< 3R 2 Tl

(§) 4— a1 IR 2 UG

(@) 379 & »ig 7l

(g) (31) 3iv (@) <=

Flow control valve 1s used to control
{a) Heat

(b} Velocity

{(¢) Pressure

{d) Force
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(x)

{x1)

(xi}

(xi)
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B3 fory Sugi ghar & |
(a1) Qw1

(@) 4w

(9) g9

(@) sa

The pneumatic system component is.

(a) FRL unit
(b) Pump
{c) Tank

{d) Accumelator

qrada yorell $ Hed w,
(31) FRL g&TS

(|) gy

(®) <&

(@) vagiaex

Hydraulic system is always a
(a) Closed loop system

{b) Open loop system

(¢} Both (a) and (I»)

(d) Logical system
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1625603

P.T.O

wod ewodipaiqs mmm//sdiy

wod ewo(dipaiqs mma/sdny

6256013

(X1}

(i)

{x111)

(x1v)
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BIsgiford Uomell 899 U ... Bldl
2 |

(31) d€ <u yvrrell

(/) e o worred!

(@) (@) 2k @) <=

(&) @ifred gomef

By changing the size of the pistons in a fluid
POWCET SySIem, we can obtain ...
advantage.

(a) Pneumatic

(b) Hydraulic

(¢) Electrical

(d) Mecchanical

U a¥dl 9ra} yoell d fOves &1 e
gaddd d, 89 AT uTeT gl
2 |

(31) aradly

CIEESIRED

(W) faggefra

(@) aif®

PLC refers to.

(a) Programmable logic controller
(b) Progress level controller

(¢) Program loss control

(d) Programme least count
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{xiv} PLC. m _‘ta‘.. 1625603 10 NT6033
T S ——— —— = _'_:. S
() “:;m"'; arfi‘_,rd{_ PLI (vi) UGBS D PR B IFER BpIES av]
(%) ';'\I ¥ ldd Eﬁ_%T“T”E ¥ qre ot feem g
o
(w) u‘t ITH ol dgld (31) IRerp
() wram foree @roe (@) sifrafia va @
| ‘ | eomtral dur ) (W) a=TaR
(XV) irrenaens oIve speed C mng aw
. ZIve specd control during a wor (a) 3{1_55&.{_'5

stroke by regulating flow to the cylinder.

(a) Meter-in circuit _ _
(b) Meter-out circuit (xvii)  Which type of energy conversion takes place
) i ¥ . . . : ! s H L Wy F H ™ et I}
(¢) Synchronizing circuit in hydraulic cylinder
{a) Electrical to mechanical

{b) Fluid to electrical

(d) Sequenual eircuit
vy Rraiey & ydarg &1 Srasvr &ve Ud {c) Fluid to mechanical
&1 ¥gle & <= ol fPrasor
Qdr 2
(31) Wrex—g1—wfdpe
(@) Her—anse—ufee
(W) Rismargeiin wfee
(g) wvag wfdbe

{(d) Mechanical to electrical

xvii) BTggifare Rider 4 ol suiavor fea
g&HN 8ldl g ?
(a1) faegchra @ e
(@) ava 4 fagda
(W) aver A AifF®
(@) =ifys 4 faggd

wod ewodipaiqs mmm//sdiy
wod ewo(dipaiqs mma/sdny

(xvi}) Pascal's law states that pressure in a confined

body will act .................. m all direction.
(a) Radially (xvii) Hydraulic motors are usually rated in
(b) Erratically (a) Newton meters
(¢) Equally (h) KW hour
(d) Sequentially (¢) Horse power
(d) Pounds
P.T.O
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(xviil) BTSSIfI® ST ATHAIN .o L]
TS BT 2 |
(31) =g Hiex
(4) KW 3qrav
(1) & uraw
(&) ursey
(xix)  When system pressure exceeds the set
Pressure, o.............will enable 1o
keep the system safe.
(a) Pressure sequence valve
(b} Pressure relief valve
(¢) Flow control valve
{(d) Shuttle valve
(xix) old YUTell &1 <714 a4 <14 9 3rfera
BIdl &, T4 ... YOTTell &l yi&r
g W gy 8|
(31) ga1d IIHA dled
(@) 4R Reliw ared
(9) vare a3 dared
(g) Tred dred
(xx}  Pressure intensifiers are used in a circuit to

supply.

(a) Very high pressure
(b) Pilot pressure

{c) Low pressure

(d) Medium pressure

P.T.0
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U Wibe ¥ UIN geiwraN &1 Sugi
e SRR B forg ®lTT 2

(31) 9ga aferes T4

() drgcic <419

(\) @9 <419

(%) weww <919

GROUPB

Answer all Five Questions.
il uig yeHl & Sex ¢ |

2. What is function of

{(a) Gaskets
{b) Filters

s @al s 2
(@) Tase
(@) fheex
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OR (31214T)
Write four advantages and disadvantages of screw

pump.
W U B AR ardl R gl @ ford |

Write any two applications of 3/2 DC valve. Draw

symbol for the same,

4
3/2 DC 9red &1 fb=21 1 Suahn &1 ford |
I9d ferw gl 917 |

OR (31214T)
What 1s seal ? Classify seals according to shape.

We 741 2 ? JHR & JTAR W B
qiftad & |

Compare meter-in circuit and meter-out circuit.

4
Hrev—ga—wfde v Aev—anse—afde @)
qetAT &Y |

P.T.O0
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OR (31erdr)

Draw speed control pneumatic circuit for
bidirectional air motor.

fafewr g1 e & fov g9ra Frae qadia
wfee Rad |

What 1s FRL 7 Write the function of each component

of FRL.,
4

FRL&GT & ? FRL & Ud® Hcd &I fhar
ford@

OR(3rexdT)
Write any four reasons of failure of pneumatic seals.
Iarda Hd & IWBaAa & fHl IR FRON
al fad |

Describe any four minor loses in fittings and valves
of pipe.

P 4
arsq & B v area o fogl I arged
AT BT qui & |
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OR (312147)

Explain the scquencing in hydraulic circuit.

sisgifare afve d Radfiv &) arar o |

GROUP -C
Answer all Five Questions.

it ufg o & 9o ¢ |

6x5=30

7. Describe with suitable sketeh the working of
hydraulic circuit for shaping machine.
6
siftr w3 & forv srssifas 9fee & fear
@ Suydd faal & wre aviq Y|

P.T.O
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OR (3r2r4T)

Describe the construction and working of a vane pump.
99 97 & d-rde dr fhar &1 quia &Y |

Describe reciprocating compressor used in

preumatic system.

g yonell & SuAi g4 arel e
dilesd &1 9vis] &Y |

OR (31214r)

Draw layout of o1l hydraulic circuit with neat sketch

and state the function of each component used in it.

W faa @ ™ snad sssifas afee &
el Rad IR 39 yygad udS gcad &l
fopar ferdd |

Describe the construction and working of gear

pump with suitable sketch.

Sugad foa & wra fray ou & g=mae
e &1l &1 qui &Y |

https://www.sbtediploma.com

wiod ewopdipaigs mmm//sdy
[dipa1q . y



wod ewo(dipaiqs mma/sdny

1625603 17

—"
i
—
L

https://www.sbtediploma.com
NT6033

OR(312147)

Explain working of directly poppet check valve

with neat sketch,

Wew O & 9 uidc d9red @ &1l &1

AT B |

Describe working of bleed-off hydraulic circuit
with neat sketch.

6
W fua & 9 fedls—iiw sggifas
afee & fpar @1 qvia &7 |

OR (3121dn)

Differentiate between pressure relief valve and

pressure reducing valve.
SqTd Y[ed died 3N §41d &H &+ dlell dled
& g araw fad |

P.T.O
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Draw hydraulic symbol for
(a) Double acting cylinder
(b) Hydrauhc pump
(c) 4/2 way dircction control valve
6

grgglifera ufas

(31) s¥a vadin Rafeiex

(@) srsgifas oy

(W) 4/2 d faen faas ared @ o R4

OR(3121@1)

What is an accumulator 7 Why accumulator is

necessary for huge hydraulic system ?

TqgAdcy 91 8 ? d8q glgglfds yvrell &
foy gaggder @) sazasdar «dl sidl @ ?

g e o
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